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abstract class ContextManager(signal: Semaphore) extends Actor {

// 5% 45 1k BT F-actor
protected def stopAll(kids: List[OrderedActorRef]): Future[Any] = {
kids match {
case first :: Nil =>
gracefulStop(first.actor, stopTimeout).flatMap { _ => Future { AllDead } }
case first :: rest =>
gracefulStop(first.actor, stopTimeout).flatMap { _ => stopAll(rest) }
case Nil =>
Future { AllDead }
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class Governor(signal: Semaphore) extends ContextManager(signal) {
override def createActors() {
val ext = SpringExtension(context.system)
// 1) receiver
val receiver = context.actorOf(props(ext, "serialConsumer"), "kafkaReceiver”)
setOrderNo(receiver, 0)
// 2) processor
val processor = context.actorOf(props(ext, "processor").withRouter(getProcessorRouter), "processor”)
setOrderNo(processor, 1)
// 3) storer
val storer = context.actorOf(props(ext, "storer").withRouter(getStorerRouter), "storer”)
setOrderNo(storer, 2)

}
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